Question 1 Let E be a nonempty subset of IR and inf E=g <oc. Let & >0be given. Then there is an x €E such that
Comect gre=>x.
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The cormrrect answer is: True

GQuestion & Eup{j; cR:z2 > ?} and iIIf{I cR: zx? = 7} are oo and —oo respectively.
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The comect answer is: True
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Question 3 f0 <a <b.then a® < ab <b?.
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The comect answer is: True
Question 4 ' . PR |
The values of x that satisty the inequality — <x are x € {-1.0) U {1, 00).
Incomrect X
Marked out of Salant ane:
1.50
¥ Flag “ False %
question
True

The cormrrect answer is: True
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